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b
A mistake has been made in three of the multiplication problems. Mark the wrong
problems.

a) 6-3=18 b)1-3=4 3 c)4-9=36 d)4-3=12
)4-2=6 8 £)9.2=18 g)5-9 =45 h)7-5=40 35
)4-6=24 )56 =30

2)

A mistake has been made in three of the multiplication problems. Mark the wrong
problems.

a)d-2=28 b)5-2=9 10 0)2-8=14 16 d)6-2 =12
)3-2=06 £)2.5=10 g)2-4=4 8 h)2-3=6
i)2-9=18 )9-2=18

3)

A mistake has been made in two of the multiplication problems. Mark the wrong
problems.

a) 67 =42 b)8-7=60 56 )2-7=14 d)7-9=63
e) 77 =49 £) 76 =42 £)9-7=59 63 h)7-2=14
i) 10-7 =70 P)4-7=28

4)

A mistake has been made in three of the multiplication problems. Mark the wrong
problems.

a)8-3=28 24 b) 5.9 =45 )4-2=38 d)5-8 =238 40
e) 65 =230 £)9-10 = 90 g)7-5=239 35 h) 3.6 =18
i)2-9=18 i)5-6 =30

Good Luck!
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